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MTH 174, Exam #1, Part 1, Spring 2018 Name

EX

Instructions: Show all work. Give exact answers unless specifically dked to round. All complex
numbers should be stated in standard form, and all complex fractio

show work, problems will be graded as “all or nothing” for the ans
possible and any credit awarded for the work will not be available.

should be simplified. If you do not:
r only; partial credit will not be

1. Integrate the following integrals using the Table of Integral

needed. Report the formula used. (7 points each)
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2. Approximate f:’ﬁex dx using (6 points each) /j% - - -2— —é
a. Trapezoidal ﬁlule withn =6 H o?'é‘t
' : [ 2 Z_J;?@Z' ’{_Q\J'é‘g, & 5 S L -
,Z—L[é ,f;)\m@,‘ —4-35@/ =9 J
X G4. b 29349
b. Simpson’s Rule withn = 4 /J“z( i{:}—" = %t

I FbSTF




¢. Findnror Trfapezmdal Rule needed to estimate the integil to £ < 0.0001.
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Instructions: Show all work. Give exact answers unless specifically #ked to round. All complex
numbers should be stated in standard form, and all complex fractioffs should be simplified. If you do not
show work, problems will be graded as “all or nothing” for the answir only; partial credit will not be
possible and any credit awarded for the work will not be available.

MTH 174, Exam #1, Part 2, Spring 2018 Name

1. Integrate. (6 points each)
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2. Setup an integral to find the area between the pair of curve§l You do not need to integrate.
Sketch the regions. (5 points each)
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3. Find the arc length for x = %(y2 +2)3/2 0n [0,4]. Set up th
numerically in your calculator. (5 points)

integral. You may evaluate it
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5. Rewrite [ sin® x dx so that it can be integrated with substitiition. You do not need to integrate.
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6. Use trig substitution to integrate fmd . (8 points)
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7. Rewrite [ (x 1)(x+2)2(x2+4)dx with partial fractions. Do not

blve for the constants or integrate.
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8. Integrate [

dx with partial fractions. (8 points)
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10. Evaluate the improper integrals or show that it diverges. (7 gints each)
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